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sorpordrk [ P FE ] kkkkkokk

No. 1 2 3 4 5 &5 #HE
E2 F £ CP CP CP GP GP [[=Fiva
2 k% JLER sk dk ok ok ok 9 5P
3 ki kk dk dok kk kk 10 1 P
4 FE FREE x k% x 4 14
h ik = %k %k % kkkk 8 11 P
6 Zith i sk kk kk ok k% 10 1 P
7 &8 IEA * kk kk kk kk 9 H P
8 BE £F sk kk kk kk kk 10 1 P
0 ZE =B $k % kk kk kk O H P
10 S8 =% *k k% kk * kx 9 §H P
11 Ik EA *% k bk ok 6 13
12 ki & % %k dk kk % O §H P
13 fIER = *k k% k kk xx 9 5P
14 &8 i *k ok kk x kk 8 11 P
15 W& — Kk kk k% kk xx 10 1 P
HYI A% = 8
sordordork [ ZEIRRE ] kkkokkokk
No. 1 2 3 4 5 &5 #HE
E2 F £ CP CP CP CP GP [[=Fiva
2 £ HER sk kk ok kK 8 2P
3 EE B sk ok kk kk kk 10 1 P
b %k =E ok ok 47
6 FHih —E * % % k% % 5 6P
1 %5 IEA| Aok 2 1
8 BE £F sk ok ok k 7 3P
9ZE =@ x x % 3 8
10 8 =% *ok * 3 8
12 k& & *k *x 3 8
13 RIER £ * xkkk *xk [ 3P
14 S8 =i * 1 12
15 WA — *k ok kk Rk ] 3P
TU=E% = 5
sorfordork [ R B ] sekkkkekk
NO. & F % 1 2 3 4 5 JEf
E B Cha cha
2 £ R 3 2 2 2 6 20
3 kEE B T 1 1 1 1 1.0
6 Fih —& 6 4 5 3 3 4.0
8 EF =T 5 5 3 5 5 6.0
13 MIER = 4 3 4 6 2 3.0
15 WX — 2 6 6 4 4 50
E B Paso doble
2 kB R 3 3 2 2 6 20
3 kEE B T 1 1 1 1 1.0
6 Fih —& 6 5 5 4 4 50
8 EF =T 5 6 3 6 5 6.0
13 MIER = 2 4 4 5 2 4.0
15 WX — 4 2 6 3 3 3.0
HWEER
No. E F 4 C P && &k
2 1k LER 2.0 20 40 2.0
3 ki B 1.0 1.0 2.0 1.0
6 FHih —F& 40 50 9.0 5.0
8 EH £F 6.0 6.0 12.0 6.0
13 MIER = 3.0 40 7.0 3.0
15 WX — 50 3.0 8.0 4.0
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11040569
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